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10.

OR (3121a1)

Define cutting speed and feed. Explain on what
factors cutting speed and feed depend?

»feT Tfis 3R wie & gRuTHT ford | BfeT
e IR wis fpa—fea arRd1 = R
AT &, 0T DY |

What is welding techniques.
Explain them with sketch.

dfesT &1 addr a1 8 | gfaa avfa &Y |
OR (372rd)

A 150 mm long 12.7 mm diameter stainless steel
rod is being turned to 12.19 mm diameter on a
engine lathe. Spindle speed = 400 rev/min axial
speed = 203.20 mm/min. Find out cutting speed
depth of cut , feed & machining time.

Uh 150 fiflo /T 12,7 il g @& &a9
W @ B8 &l 12.19 fiflo &g 991 3q
g1 oY WR e fepar orar 2 1 |Wesd a7
2400 rev/min. 31— A7 20320 fifio / fiFe
e P TexTs, dieT afls, Bis qr weifs
T e |

N4043 1611405
2019(Even)
Time : 3Hrs. Sem - IV / Ag. Engg.
Work. Tech.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg gl & SR <, S U & 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an)

Write the differences between shaper and planer.

IR IR R A Iax fod |

Write the operation that can be done on the
engine lathe. Explain one operation. 4

golF ol TR HII—HI ATWRYA fHar srar
2, fod 3y & ATwRIE &1 avia &Y |

OR (3121an)
State the objectives of Normalising ?

ARAATSIT BT ST Add N |

GROUP -C

Answer all Five Questions. 6x5=30

Il uig gl & SR o

7.

Write Important provisions of Indian Factories
Acts regarding safety in workshop? Discuss.

qHeY 3§ Grer A9, ARA e sifefrr

& Y& Al & fad qom avfa & |

N4043

(i)

(iii)

(iii)

(iv)

3 1611405
goldcls ® AU Bl ... Ped 2 |
(31) argae

C)RGER

(|) Gv&vr |dzg

(]) A—-TRAsIgOR

Body centered cubic lattice contains
(a) 14 atoms

(b) 12 atoms

(c) 9 atoms

(d) 8 atoms

9ISl dves °q dfed ... qRHTY]
REdl 2 |

(31) 14 9=

(@) 12 TxHI9]

(|) 9 w=HIg

() 8 wxHITg

Galvanizing is done with a thin layer of
(a) Copper

(b) Aluminium

(c) Zinc

(d) Lead

P.T.O
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(xx) UP FHdd dleX & 3Afse ATdrR o
®Ted @t fafer & ... PEd B |
(31) =T
(@) dife
(|) weufiiT
(]) =iy

GROUPB

Answer all Five Questions.

gl ufg g3 & SN < |

2.

5x4=20

Write the differences between hand hammers
and sledge hammers. 4

2US WX 3R Wil 29 ¥ 3R ford |

OR (3721d1)
Write the advantages of welding.
IfeST @ @l &t fod |

Write with sketch of various types of sheet
metal joints. 4

faftr=1 yoR & e Aca sl &1
afera qufa &3 |

N4043

(vi)

(vii)

(vii)

(viii)

5 1611405

dfesT 7 affe fawarax .. BIdT 2 |
(31) 18—40 dlec

(@) 100—125 dlec

(¥) 40—95 dlce

(%) 130—170 dice

Which of the following materials cannot
be forged?

(a) High Speed Steel

(b) Wrought Iron

(c) Cast Iron

(d) Mild steel

fr=farRaa ugrefanl & feasr wIRFST
T8 foar < Aaar 2|

(@) S=a a7 a

(@) faeat st

(W) ardi <l

() 93 i

Which type of Iron is the magnetic allotrope
of Iron?

() o
(b) B
(©Y
(d)d
P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4043

i gelifecs A9 dfesT ¥ w9 @
JMARD® HFT BT ATIDH oo
BIdT 2 |

(31) 3500° C

@) 3200°C

(@) 1200 C

() 2500° C

The cutting speed in turning operations
would be least in case of

(a) Aluminium Alloys

(b) Medium Carbon Steel

(c) Mild Steel

(d) Stainless Steel

BTIg MW A Hled &I dald aad
G 22: S ERIEIR SR

(31) vyfafram fisteng

(@) afsan srda e

(w) 73

(?) a9 a

Alloys are extensively used in Industry
because they are.

(a) Sufficient Soft

(b) Have Good Strength

(c) Malleable

(d) Ductile

N4043

(x)

(xi)

(xi)

(xii)

7 1611405

fr=iferfRaa & @19 91 dos oiis -8 2 |
(@) dc

(@) w0

(&) Telo

() dlo

A consumable electrode is used in arc welding.
(a) Is always bare

(b) Is always coated

(c) Is always electroplated

(d) Can be either bare or coated

@qd 81 didl soldgls &l 3Md dfesT
# Sy fear srar 2

(31) &Wem 991 Ra FeT

(@) s wRd FeT

(W) AT gAdgITITS

(g) f&=1 uxd =St AT UG FST BIAT

The size of lathe is generally specified by

(a) Length of bed

(b) Distance between centres

(c) Diameter of jobs that can be turned
between rails

(d) All of above

P.T.O
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11. State the principal elements of costs and explain

them. 6

ARTd & YW IqAdl &l ford 3R "1

qufs B |
OR (3721d)

A certain piece of work is produced by a factory in
batches of 100. The direct cost for 100 pieces work
is Rs. 160.00 and direct labour cost in Rs. 200.00.
Factory on cost is 35/- of the total material and
labour cost overhead charges are 20% of factory
cost. Calculate prime cost and factory cost.

fodt = &1 100 & 99 & HREET A 99T
21 100 I & & fov gaer <™ 160 U
IR Y& AdX T 200 3UA 2 | DI DI
Fo ATl R deR Biw BT 35 Yl 2 |
ST @ 20 UfPa Baedl dive &7 2|

% T qT SRET <™ fHebre |

L
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11. State the principal elements of costs and explain

them. 6

ARTd & YW JqAdl &l ford 3R SqB1

quf B |
OR(3721d)

A certain piece of work is produced by a factory in
batches of 100. The direct cost for 100 pieces work
is Rs. 160.00 and direct labour cost in Rs. 200.00.
Factory on cost is 35/- of the total material and
labour cost overhead charges are 20% of factory
cost. Calculate prime cost and factory cost.

fodt ®rf &1 100 & 99 & HREET A 49T
21 100 I & & fov gaer <™ 160 U
IR U AdR T 200 TUA 2 | HIcH Bie
Fo ATl R deR Biwe b1 35 Yl 2 |
ST @ 20 UfEa vaedl dive &7 2|

¥ T dAT SREFT <™ Aebre |
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